1 X(3.0km)

No. [E(L |Fegk |[&#TF4 F—2L
34| 1 9.45[ s BEARM|IEDE
30| 2 10.03|1#2 2 WE1  [Ind) L
95| 3 10.05|#8 3 &b fin Lt
61| 4 10.10|58AR K& [FH

94| 5 10.10| kAT B4 [fise

71| 6 1011 A [/NEP

3| 7 10.23| A Weff) | PR

62| 8 10.24|Hi% & |ES

56 | 9 10.24|p%H A& [ =AKK
38| 10 | 10.24[ 1A DM |

29 | 11 | 10.27\M¥% FHA PkE

11| 12 | 1031|730 x5 |i%

16 | 13 | 10.35|f% 3% PAUNES
50 | 14 | 10411 UEH  |=K

54 | 15 | 10.51|7&F0 #t ks
21| 16 | 10.53|%H HX |—A

28 | 17 | 10.54(dkHy ¥Ad o)l
14| 18 | 10588 EHA& |
20| 19 | 11.01|KVE ZEK  [fAEK
471 20 | 1L.I3|Eh kb [FEREE
70 [ 21 | 11.14|@E AzE |/NEFEE
18| 22 | 1raspid ERLFTHE
31| 23 | 1L.15ER] —%E  |hndr) i
13 ] 24 | 1LI7T[ILH 95566 &)1

75| 25 | 11.25|@ME W)Y |dESs

55 | 26 | 11.28|/INEl RGP B B
63 | 27 | 1L.33[EH megm |l

35| 28 | 11.33[—& #3E BT

91 | 29 | 11.36[K¥E XEh |[HHEE
771 30 | 11.39|%&EE $nfE [InpE

97 | 31 | 11.42|E®II & |4&EM
19 32 | 11462k EilF |fafE

45 | 33 | 12.18|BHE BALL |VEW

81| 34 | 1245|=F Hvx |+

12| 35 | 12.56|FHF R | K&

85| 36 | 13.01|1FWN R JYS | SR BOKHE
39 [ DNS 73E2)




